#Rewr1 teEngl e on

#Rewrl tefase  Supcs

#Rew1teRule “view/T[A-91(7, 1400% Chtml htmll phpt & 1 ndex, phpfact =vi ewiupc=$1
#Rew1teRule  “wiew/T[A-9]17 1400%, ([A-9]+[%, J7[A-913%, Chtml htmll phpt % Index, php?
act =vi ewiupc=4§1 &esi ze=§2

#Rew 1 teRule  “viewypcssCLA-91111, 1232%, (gl £l prgl xbml wbmp) § 1ndex, php?

act zupcafupc=$1 4 mgt ype=$2

#Rew1teRule  “wiewypca s LA-91711,1230%, ([A-9]=[Y, J7LA-912%, (gi fl prgl xbml wbmp) %

1 ndex, phpfact supcadupc=%1 4esi ze=$£41 mgt ype=$3

#Rew1teRule  “viewypcesCLA-911F, G0y, (gl 1l pngl xbml wbmp) & 1ndex, php?

act zupcedupc=$1 4 mgt ype=$2

#Rew1teRule  “viewypcesCLA-91{7F, G20y, (LA-9]«[%, J7LE-9]12%, (gl fl prgl xbml wbmp) &

1 ndex, phpfact supcedupc=%1 4esi ze=$£41 mgt ype=$3

#Rew1teRule  “vieweanE s LA-9117, &%, (gl 1l pngl xbml wbmp) & 1ndex, php?

act zeanBiupc=4$1 4 mgt ype=$2

#Rew1teRule  “viewesnE C[A-9117, G20y, (LA-9]«[%, J7LE-9]12%, (gl fl prgl xbml wbmp) §

1 ndex, phpfact =eandiupc=%1 4es1 ze=$£41 mgt ype=$3

#Rew1 teRule  “viewesnl 5/0LA-91¢1 2, 13034, (gl £l prgl xbml wbmp) $ 1ndex, php?

act =eanl F4upc=41 41 mgt ype=$2

#Rew1 teRule  “vieweanl 5/0LA-91(1 2, 13004, ([A-9]+[%, J7LA-912%, (gl 1 prgl xbml wbmp) $

1 ndex, phpfact =eanl 34upc=§1 &resi ze=$241 mgt ype=$3

#Rew1teRule  “wiewl trl4/0LA-9]+1%, (gl fl prgl xbml wbmp) % 1ndex, php?

act =1 t f1 94upc=41 41 mgt ype=42

#Rew1teRule  “wiewl trl4/00A-9]+1%, ([A-9]=[%, J7LA-912%, (gi fl prgl xbml wbmp) 1ndex, php?
act =1 t 1 44upc=¢1 4resi ze=$24 mgt ype=$3

#Rew1teRule  “wiewl trorLA-9]+1%, (gl fl prgl xbml wbmp) 1ndex, php?

act =1 t féupc=41 41 mgt ype=4=

#Rew1teRule  “wiewl trorLA-9]+1% (LA-9]=[Y, J7LA-911%, (gi fl prgl xbml wbmp) § 1ndex, php?
act =1 t féupc=¢1 4resi ze=$24 mgt ype=$3

#Rewrl teRule  “viewcode39/[A-95-zA-C-4 VEVSV Y T35, (gl £ prgl xbml wbmp 1ndex, php?
act zcodeF95upc=$1 41 mgt ype=$2

#RewriteRule  “viewcoded9/([A-95-zA-24=% V4V +E T+2%, ([A-9]=[%, J7[A-9]24,

(gi £l prigl xbml wbmp) % 1 ndex, phpfact =code394upc=$1 &es1 ze=$£41 mgt ype=$3

#Rewrl teRule  “viewcodedss([A-95-zA-C -4 VEVSV Y T+2%, (gl £ prgl xbml wbmp 1ndex, php?
act zcode935upc=$1 41 mgt ype=$2

#RewriteRule  ™viewcoded5/ ([ A-95-zA-24=% Vg4V +2 T+2%, ([A-9]=[%, J7[A-9]24,

(gi £l prigl xbml wbmp) % 1 ndex, phpfact =coded54upc=$1 &es1 ze=$£41 mgt ype=$3

#Rew1 teRule  “viewbarcodesTLA-9117, 14305, (gl £l prgl xbml wbmp) § 1ndex, php?

act =barcodedupc=4$1 41 mgt ype=$2

#Rew 1 teRule  “viewbatcodesTLA-91(7, 14004, (LA-9]=[Y, J7LA-912%, (gi fl prgl xbml wbmp) %

(LA P Sy T Ry SRy ey 3 R P iy ¥ o T S R—— ]



1 1aex, Ly go L —=0gr CO0esUpL—pl & E51 S8 —pedd N0 L LIS — .0



